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Oliver had eighteen cherries. He ate three
of them. How many cherries does Oliver
have |eft?

Adam has sixteen shirts. After he got rid
of some there were six left. How many did
he get rid of ?
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A chef had eight apples. After making a
pie he had two left. How many apples did
he use in the pie?

The book fair sold eight posters. Now
they have two posters left. How many
posters did they have to begin with?

00

> T T TT

> T T



< _O

10

mwwwwwwwwmmwwwowowwm

15
10

< : <
> TTOTOTO OO OO TSSO




0

0
0
0
0
0
0
0
§
0
0
0
0
0
0
0
0
0

9

A chef had eight apples. After making a
pie he had two left. How many apples did
he use in the pie?

The book fair sold eight posters. Now
they have two posters left. How many
posters did they have to begin with?
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Adam has sixteen shirts. After he got rid
of some there were six left. How many did
he get rid of ?

Sam had some quarters. He spent ten of
them at the arcade and had eight left over.
How many guarters did he have to start
with?
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Adam has sixteen shirts. After he got rid
of some there were six left. How many did
he get rid of ?

Sam had some quarters. He spent ten of
them at the arcade and had eight left over.
How many guarters did he have to start
with?

Q000
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The book fair sold eight posters. Now
they have two posters left. How many
posters did they have to begin with?

A pet store had thirteen gerbils. If they
sold six of them, how many would they
have |eft?
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The book fair sold eight posters. Now
they have two posters left. How many
posters did they have to begin with?

A pet store had thirteen gerbils. If they
sold six of them, how many would they
have left?
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Sam had some quarters. He spent ten of
them at the arcade and had eight left over.
How many guarters did he have to start
with?

A group was sitting at alunch table. After
finishing, eight people left and there were
six left at the table. How many people
were a the table to start with?
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9

Sam had some quarters. He spent ten of
them at the arcade and had eight left over.
How many guarters did he have to start
with?

A group was sitting at alunch table. After
finishing, eight people left and there were
six left at the table. How many people
were a the table to start with?
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A pet store had thirteen gerbils. If they
sold six of them, how many would they
have left?

At the arcade Mike spent nine tickets on
stuffed tiger. Then he had two left. How
many tickets did Mike have to start with?
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